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1 Which of the following is correct?
|. Evaporation is a surface phenomenon, which means particles from
vapour state.
2. Boiling is a bulk phenomenon, which means particles from the bulk (whole) of the liquid change into

vapour state.
3. Deposition is the change of gaseous state directly to solid without convertin

the surface change into the

g into the liquid state.

4. The state of matter can be changed by changing its temperature only.
D s T D Lamas, ATl
2  Match List-I with List-II :
List - I List - II
1. Camphor from solid sodium chloride [.  Chromatography
2. Different pigments from an extract of flower petals II. Distillation
3. Acetone and water mixture [1I. Centrifugation
4. Butter from cream [V. Sublimation
(A) 1411, 2-1, 3-1V, 4-1lI (B) 1-I1, 2-II, 3-1V, 4-I
(C) 141V, 2-1, 3-11, 4-11I (D) 11V, 2-111, 3-1, 4-I1
3 Consider the legal issues involved in followings advisory opinion rendered by the Supreme Court of India

under Article 143(1) of the Constitution.
Match List - 1 with List-1II :

List-1 ' List - 11

A. Delhi Laws Act, 1951 . Legislative Privileges

B. Keshav Singh 1965 II. Gujarat Gas

C. Special Reference No. | of 2001 I11. Delegated Legislation

D. Special Reference No. 1 of 2002 IV. Gujarat Assembly Election
Choose the correct answer from the options given below :
(A) A-IlI, B-I, C-1V, D-II (B). ~A-lil, B-I, C-lI, D-IV
(C) A-l, B-lII, C-1V, D-ll (D) A-Il, B-1, C-II, D-IV

ories are included in electoral college for election to office of President

4 Which of the following Union Territ
for purposes of Articles 54 and 55 of the

of India by the Constitution (70" Amendment) Act, 1992
Constitution of India ?

A. NCT of Delhi B. Goa .

C. Puducherry D. Lakshadweep
Choose the correct answer from the options given below :
(A) A and B only (B) Band C only (C) A and Conly

he Public Accounts Committee ?
the Lok Sabha and not more than 7 members

(D) C and D only

5 Which of the following statements is/are correct for t
A. It comprises of not more than 10 members from

from the Rajya Sabha.
B. As per convention a member of the opposition acts as its Chairman.

C. It examines the statement of accounts showing the income & expenditure of the state
corporations, autonomous and semi-autonomous bodies. :
D. The term of the Committee does not exceed one year at a time.

Chn'use the correct answer from the options given below :
(A) A, BandConly (B) A,CandD only (C) A,B and Donly (D) B,C and D only

6 Consider the following statement regarding the appointment of ad hoc Judge of the Supreme Court.

Which of the following is/are correct?
A. Ad hoc Judge is to be appointed if the quorum of the Supreme Court judges is insufficient to hold

or continue any session of the Court.
B Chief Justice of India is required to consult the Chief Justice of the concerned High Court before

appointing a Judge of the said High Court as Ad hoc ] udge of the Supreme Court.
C. For appointment of ad hoc udge, prior consent of the President is not mandatory.
D. Ad hoc Judge of the Supreme Court while attending the sittings of the Supreme Court enjoys all

powers and privileges of a Supreme Court Judge.
(A) A, B and Conly (B) Aand B only (C) C and D only (D) A, B and D only
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A vitam‘in that functions both as a hormone and a visual pigment?
(A) Riboflavin (B) Folic acid (C) Thiamine (D) Retinal / Retinol

The total percentage of carbon present in our human body is
(A) 18 to 19 percent (B) 20 to 25 percent (C) 15 to 16 percent

During expiration the air will leave the Jungs when the pressure inside the lungs must become
(A) equal to the atmospheric pressure (B) lower than atmospheric pressure
(C)  higher than atmospheric pressure (D) diaphragm must contract

Select the correct option from the codes given below about greenhouse gases from the follo
L. Methane ii. Nitrogen

1ii. Nitrous oxide iv. Water vapours
Code -

(A) i, iii and iv only (B) i and iionly (C) iand iii only

The Padma Awards are given in various disciplines/field of activity. Match the name of the Padma
Awardees of the Yyear 2022 with their field of activities :-

(D) None of the above

wing:

(D) i, ii and iii only

Name Field
a) Prabha Atre 1) Trade and Industry
b) Radheyshyam Khemka (Posthumous) 2) Sports
c) Natarajan Chandrasckaran 3) Science and Engineering
d) Devendra Jhajharia 4) Literature and Education
e) Sanjaya Rajaram (Posthumous) 5) Art
Choose the correct option from below :-
(A) a-5, b-4, c-1, d-2, e-3 (B) a5, b-1, ¢-2, d-3, e-4
(C) a-l, b-2, c-3, d-4, e-> (D) . a-2, b-3, c-4, d-5, e-l
Match List I with List 1I :-
List 1 List II
a) Dr. Dhondo Keshav Karve 1)  Gandhi of Malkangiri
b) Laxman Nayak 2) Old Gandh
¢) Matangini Hazra 3) Hindi Litterateur and Revolutionary
d) Satchidananda Hiranand Vatsyayan ‘Agyeya’ 4) Pioneer of Women’s Empowerment

Choose the correct option from below:-
(A) a-1,b-2,¢3,d4 (B) a-4,b-1,¢-2,d3 (C) a2,b-3,c4dI (D) a-3,b-4,c-1,d-2

Which of the following is / are true regarding Tatya Tope, a significant face of the Freedom Struggle of

18577
1. His real name was Ramachandra Pandurang Rao. _

2. In Bithur, he came in contact with Nana Saheb and Moropant Tambe.

3. He belonged to Yeola in Maharashtra.
4. He led a rebellion in Madhya Pradesh ‘and Rajasthan.

Choose the correct option from below:-
(A) 1,2and3only (B) 2,3andd4only (C) 1,3and4only (D) 1,2,3 and 4

With a view to position India as a global leader in technical textiles, National Technical Textiles Mission
has been approved for creation with a four year implementation period from FY 2020-2021 to FY 2023-
2024 by the Ministry of Textiles, Government of India.
Consider the following statements:- _

1. Technical Textiles products are divided into 14 broad categories depending upon their application

areas. .
2. Penetration level of technical textiles in India is at 5-10%, against 30-70% in advanced countries.
3

Promotion of innovation amongst young engineering/technology/ science standards and graduates

will be taken up by the Mission. _
4. The National Technical Textiles Mission will be implemented through a 3-tier institutional mechanism.

Cht'mse the correct statements from the above :-
(A) 1,2and3only (B) 2,3and4only (C) 1,3andd4only (D) 1,2 and4 only
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15  Read the statements and select the correct answer from the given options:

Statement - I : Manganese is an important raw material for smelting of iron ore and also used for
manufacturing ferro alloys. . .
Statement - Il : Manganese deposits are found in almost all geological formations, however, it i1s

mainly associated with Dharwar system.
(A) Statement -1 is True, Statement - I is False

(B) Statement -1 is False, Statement - I is True
(C) Both Statements are True and Statement - II provides explanation to Statement - [
(D) Both Statements are True and Statement - II does not provide explanation to Statement - |

16  Which of the following statements are correct about Eastern and Western Ghats?

1.  Anaimudi is the highest peak in the Eastern ghats.
2. Western Ghats are comparatively lower in clevation and less continuous than Eastern Ghats.

3. Most of the Peninsular rivers have their origin in the Western ghats.
4. The Eastern and the Western ghats meet each other at the Nilgiri hills.

Select the correct answer using the code below:
(A) only 1 and 2 (B) only 3 and 4 (C) onlyl,2and3 (D)

Which of the following statement/statements are correct about a disaster which struck Uttarakhand’s

Chamoli district in February 20217
1. A portion of the Gangotri glacier broke off and caused havoc.
2. There was sudden flood in the middle of the day in the Dhauli Ganga, Rishi Ganga and Alaknanda

only 2, 3 and 4

17

rivers.
3. Tapovan-Vishnugad Hydel Project and the Rishi Ganga Hydel Project were extensively damaged.

Select the correct answer using the code below:
. (A) Only 1 (B) Only 1 and 2 (C) Only 2 and 3 (D) 1,2and 3

18 Read the given statements and select the correct answer from the options given:
Sikkim Himalayas are famous for Karewa formations, which are useful for the

cultivation of Zafran _
Karewas are thick deposits of glacial clay and other materials embedded with

Statement - 1

Statement - Il
moraines

(A) Statement - I is True, Statement - II is False

(B) Statement - 1 is False, Statement - II is True
(C) Both Statements are True and Statement - II provides explanation to Statement - I

(D) Both Statements are True and Statement - Il does not provide explanation to Statement -1

19  Which of the following characteristics are correct about waves?

1. Wind causes waves to travel in the ocean.
2. The actual motion of water beneath the wave is not circular.
3. Steep waves are not fairly young ones and are probably formed by local winds.

4. The highest and lowest points of a wave are called the crest and trough respectively.
Select the correct answer using the code below:

(A) 1 and?2 (B) 2and3 (C) 3 and4 (D) 1and4
20 Match the climatic regions of India according to Koeppen’s scheme.
Column I - Column I
Types of Climate " Areas
] BWhw A. Arunachal Pradesh
2. Dfc B. West Coast of India south of Goa
3. Amw C. Extreme Western Rajasthan
4. As D. Coromandel coast of Tamil Nadu
(A) 1-A, 2-B, 3-C, 4-D (B) 1-C, 2-D, 3-A, 4-B
(C©) 1-C, 2-A, 3-B, 4-D - D) 1-A, 2-C, 3:B, 4-D b
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Match List - I with List - II

List - 1 List - Il
A. Mata ni pachedi [. Uttar Pradesh
B. Sanjhi I[I. Gujarat
C. Phad (*1lI. Odisha
D. Saura Paintings ¢-IV. Rajasthan
Choose the correct answer from the options given below :
(A) A-Il, B-l, C-1V, D-IIl ¢+, (B) A, B-II, C-I, D-IV
(C) A-lV, B, CI, DT (o (D) A-l, B-1V, C-I, D-III
L)
Match List - I: Name of the Varieiy Units with List - II: Textile
List -1 List - Il -
A. Shabnam I. Wool
B. Mashru II. Cotton
C. Dhabla 1II. Muslin
D. Chintz - IV. Cotton and Silk mix
Choose the correct answer from the options given below :
(A) A-lI, B-1V, C-I, D-Il (7} (B) A-1V, B-III, C-1I, D-I
(C) A-1V, B-lII, C-L, D-II ] (D) A-IIl, B-IV; C-II, D-I

Consider the following events ifﬁ’jhe history of India :
1. Rise of Pratiharas under'King Mihir Bhoja (Bhoja l)
2. Establishment of Pallava power under Mahendravarman

3. Pala dynasty founded by Gopal

4. Establishment of Chola power by Prantaka -1
What is the correct chronological order of the above events, starting from the earliest times?

=

)

(A) 2-1-4-3 (B) 3-1-4-2 (C) 2-3-14 (D) 3-4-1-2
With reference to the Indian Freedom Struggle, consider the following events -
1. Second Round Table Conference 2. Dandi March
3. Rowlatt Act .+ G} 4. Death of Jatin Das
" The correct chronological sequence is (from earliest to recent)
(A) 4,3, 1,2 (B) 3,4, 2, 1 Ccy L3 2:49 D) 1,2 3,4
In the later vedic period, the térm "Bali" denoted
(A) Sacrifice L3 (B) Tax
(C) Powerful landlords (D) Revenue
"AshtaPada" in anﬂrc*ient India referred to = ‘
(A) A marriage ritual -(B) An Asura with eight legs
(C) Game of chess (D) Cavalry unit comprising of eight horses
Consider the following statements about Yeast : |
1. Yeast are fungi. o8 2. Yeast can form psendomycelium.
3. Yeast reproduce asexually-by budding. 4. Yeasts are facultative anaerobes.
5. All Yeasts are dimorphic:; ; 6. All Yeasts are pathogenic.
Which of the above are correct 2,
(A 1,234 (B) .1,2,3,6 <) 3,49, 0 )" .3 %3
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28  Consider the following regarding the National Dairy Research [nstitute (NDRI) :-
1. The National Dairy Research Institute started as Imperial Institute of Animal Husbandry and
Dairying in 1923 in Bangalore.
2. In 1936, it was renamed as Imperial Dairy Institute.
3. NDRI shifted to its present site in Karnal in 1955.

Choose the correct statements from the above:-
(A) 1 and 2 only (B) 2 and 3 only (C) 1 and 3 only (D) 1,2and3

29  Consider the following regarding Wildlife Sanctuaries of Haryana :-
1. Bhindawas Wildlife Sanctuary — Jhajjar district
2. Nahar Wildlife Sanctuary — Rewari district . ke b
3. Chhilchhila Wildlife Sanctuary — Kurukshetra district
4. Bir Shikargah Wildlife Sanctuary — Mahendragarh district

Choose the correct statements from the above :-
(A) 1,2and3only (B) 1,2 and4only (C) 2,3and4only (D) 1,3 and 4 only

30  Consider the following matches :-

1) FAME India Scheme — To promote environment friendly vehicles

2) PM Vikas Pahal Scheme — To promote development in the villages of North East

3) Nishtha — National initiative for holistic progress of school heads
and teachers.

4) Pradhan Mantri Saubhagya Yojana — Right to electricity to the poor and deprived.

Which of the above are correct matches? |
(A) 1 and 2 only B) I1,2and3only (C) 2,3and4only (D) 1,2, 3and4

31  Which of the following statements are true about the India Post Payments Bank (IPPB)?

1. IPPB was set up in 2016.
2. IPPB got incorporated as a Public’ Limited Company with 100 percent GOI equity under Department

of Posts. |
3. Post Office Savings Bank products primarily focus on encouraging digital payments and remittance

whereas IPPB primarily aim at savings.
4. Services launched by IPPB include Life and General Insurance, Digital Life Certificate, Domestic

| Money Transfer.
(A) 1,2and3only (B) 2 3anddonly (C) 1,2and4only (D) 1,3 and4 only

32  Which of the following statements are incorrect?
1. Central Board of Film Certification (CBFC) is a statutory body regulating the public exhibition of

films. -
2. The film ‘Raja Harishchandra’ produced by Dadasaheb Phalke was released after the passing of the

Indian Cinematograph Act, 1920.
3. CBFC launched its online portal ‘e-cinepramaan’ in 2015 to modernize and digitize film certification

process. _
4. The Advisory Panels which assist the regional offices of CBFC in examination of film comprise of
members who have been nominated by the Central Govt. for a period of two years. '

(A) 1 and 2 only (B) " 2 and 3 only (C) 3 and 4 only (D) 1 and 4 only

33  Which of the following statements are true about Indira Gandhi National Centre for the Arts (IGNCA)?

I. IGNCA is an autonomous trust set up by the Government of India under the Ministry of Culture.

2. It has started post-graduate diploma courses to train manpower in the specialized field of heritage
conservation and management. .

3. As a part of its mandate, it has to prepare the National Register on Built Heritage and Sites and
the National Register on Antiquities.

4. Tt is the nodal agency for the National Mission for Manuscripts.

(A) 1,2and3only (B) 2,3and4only (C) 1,3and4only (D) 1,2 and4 only

Y
k]
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34 Phut?syﬂthﬂi!i is a process that helps green plants synthesize their food. A cascade of events and chemical
reactions take place in a specified sequential order. Choose an event that does not take place in photosynthesis
(A) Absorption of light energy by chlorophyll (B) Reduction of carbon dioxide to carbohydrate
(C) Oxidation of carbon to carbon dioxide (D) Splitting of water
35 A couple suspects a mix up of their new born baby in the hospital. Blood typing is sought to resolve the
dispute. The man has blood group A and the woman has blood group B. Their biological child can have
blood group
i. Either A or B ii, Aor Bor O or AB
ili. A or B or AB iv. only AB
Choose the correct option :
(A) ionly (B) iionly (C) iiionly (D) iv only
36 Consider the following statements:-
i Nitrification is a process in which nitrates are converted to nitrogen.
ii  Denitrification is a process in which nitrogen is converted into nitrates.
iii. Nucleic acids (DNA and RNA) contain nitrogen.
iv. During atmospheric lightening, nitrogen in the air gets converted into oXxides of nitrogen.
v. Nitrogen fixing bacteria are present in root legumes. ' |
Choose the correct statement(s) :
(A) i, i1, iii and v (B) i,uniandv (C) iii,ivand v (D) i, iiand iv
37  Consider the following statements about Lichens :
i. Lichens are algae ‘ ii. Lichens are autotrophs
iii. Lichens are fungi iv. Lichens are symbiotic lifeforms
v. Lichens are saprotrophs
Choose the correct statements : .
(A) iandv : (B) iiandiv (C) i, 1iand v (D) i ivandyv
38 Following are some processes involving changes of state :
A. Evaporation of water
B. Burning of candle
C. Dissolution of sugar in water
D. Electrolysis of water to form hydrogen and oxygen
Select the correct option -
(A) B, C and D involve chemical change only (B) A, B and C involve physical change only
(C) Only A is a physical change (D) B involves both physical and chemical change
39  Which of the following statements are not correct ?
A. Plaster of Paris is obtained on heating gypsum.
B. Sodium carbonate is an important constituent of baking powder.
C. Bleaching powder can also act as an oxidising agent.
D. Ten water molecules are present in one formulae unit of chemical species of a sample with common
name blue vitriol.
" E. Sodium hydroxide is produced by passing electricity through the aqueous solution of sodium chloride.
(A) A,BandD (B) A,CandE (C) Band D (D) Only E
40 Select the correct statements regarding cleansing action of soap.
A. Hydrophilic end of soap molecules interact with the oily droplets.
B. The formation of micelles in a soap solution during the cleaning of clothes is called
emulsification. |
C. The hydrophobic end of the soap molecules is in the inner side during micelle formation.
D. Micelles surround the Cca?* or Mg2+ ions in hard water instead of oily droplets.
(A) A,BandC (B) Aand D (C) BandC (D) B,Cand D
OR22-1 C] Page - 13 [ P.T.O.

Scanned with CamScanner



po——

Pad qred @ 2011 %Y STHRVET 3 STE A B warel B 5 gae whEart § aiigd

HINDI VERSION

41 ﬁ%ﬂuﬂm%ﬂaﬂﬁﬁwﬁ%ﬂ%ﬁmféiﬁﬁmh%ﬂrl
1. S qrome ofit =g aul art & ¥ A warg famia ek &
2, ﬁmmﬁﬁmﬂﬂmﬁmmaﬁtﬁﬁﬂmﬁwﬁiﬂ% .
3. Ha Pfor § gam ¥g § % w0 W S AT ol @1 B2 @Od &9 § R S vl
4. ﬂmmmﬁmm%ﬁﬂa}ﬁﬁmﬂﬁgﬁ%l

Y & T BT & IUGET B GOl SUL B GG BT ¢
(A) 19R2 (B) 3 3T 4 ©) 1,23 W) 2,34
42  gdr-1 @ e gfa-11 & @ Hifeg
T -1 - - 11 )
A. T HAYH, 193911992 . frard (oféRz) amifie 9g0s ﬁ'aﬂ“f
B. qedq w=isF, 1998/2004 1. WWWWW@WWW
C. fFmmer w=ism, 2013/2017 11 h@%&wﬁwﬁmﬁﬁaﬁwﬁﬂ
g}maﬁra'r%|

D. wWi@daw &9, 2001/2004 IV. W&l
A Ru o el ¥ § 98 I9C B 999 B
(A7 AL, B-II, C-1V, D-I
(C) A-II, B-II, C-1I, D-IV

(B) A-II, B-IIl, C-IV, D-I
(D) AL, B-I, C-IV, D-II

fpar T ¥, sfa, sz’;ﬁm

s, aitI-oRmtes, Rad-at oft Afrer — ¥ifde | 37 wrarell @1 die arel o a1 HEAl $D
sy & 1 o g [ & freme gl 1 & s @iy

T -1 (1on wRaw) T - 11 (T | SFreemea we90)
A. T3 gUtET . iy Wy, b, FHed
B. =fus [1. ogw, Afge, Tres
C. 3Tl — uidmies [II. Ja% w291, Wenrsg, f4er
D. f@=r — o4 IV. scavs, sfsem, Jury
&) A-II, B-I, C-1V, D-II (B) A-Il, B-1V, C-I, D-III
(C) A-l, B-II, C-III, D-IV (D) A-IV, B-II, C-II, D-I
A3  GEW % 91U I§h U-I9Ee g @1 HdaH il
HEA RN THEE
A. SR 1. A& was
B. am 2. RS
C. 9@ 3. AT
D. o= 4, vf¥EH e

1 R o Pl ¥ ¥ W@ SEC BTG BRG :

(A) A-4, B-2, C-1, D-3 A-z, B-3, C-4, D-1

(C) A-3, B4, C-2, D-1 (D) 1, B-2, C-3, D-4
45~ WW(W2UII)%WﬁWWﬁWW%{W%WW@T)

(A) TOT way, faem, wertez, uiyew W (B) waT wayl, 9Rem e, wenng, [9E

(] AT Wy, WEnne, uiyew €mWw, fEr (D) 99T WSy, Jewr, ey, uivaH
(46 ﬁaﬁaqﬁsﬁrﬁﬂﬁww@raﬁlﬁqﬁﬂaﬁuﬁﬁw%l

AT TR \ K|

A. SEREHH ‘ 1. [

B. wWerdT sienm a=eswr 2.  HEH

C. STHRIE 3. Wuwd

D. =@l 4, HTIMEN WL

i o T el ¥ ¥ 98 9T @ 999 B ¢ G/
(A) A-4, B-2, C-1, D-3 A-3, B-1,C-4, D-2
(C)- A3, B4, C2,D-1 (D) A-1, B-2, C-3, D-4

OR22-1 C] Page - 14 [ B.T.O.

Scanned with CamScanner



41

42

43

44

45

46

ENGLISH VERSION

Which of the following statement/statements are correct about Laterite soils?
|. These soils develop in the areas with high temperature and low rainfall.
2. These soils are rich in organic matter, nitrogen, phosphate and calcium.
3. These soils are widely cut as bricks for use in house construction.

4. These soils have mniqu developed in the higher areas of the peninsular plateau.
Select the correct answer using the code below:

(A) 1 and2 (B) 3and4 (C) 1,2 and 3 (D) 2,3 and 4
Match List 1 with List Il
List I List II
A. Basel Convention, 1989/1992 . Persistent Organic Pollutant
B. Rotterdam Convention, 1998/2004 I. Control of Transboundary Movements of
2 Hazardous Waste and their disposal
C. Minamata Convention, 2013/2017 [1I. Facilitate informed decision making

by countries with regard to trade
in Hazardous Chemicals

D. Stockholm Convention, 2001/2004 IV. Mercury
Choose the correct answer from the options given below:
(A) A-l, B-1I, C-1IV, D-] (B) A-ll, B-II, C-1V, D-I
(C) A-, B-II, C-I, D-IV (D) A-II, B-I, C-1V, D-III

According to Census of India, 2011, the languages of India are classified into 5 distinct families, namely,
the Indo-European, the Dravidian, the Austro-Asiatic, the Tibeto-Burman and the Semito-Hamitic. Large
number of speakers of these languages are found in certain states. Hence match List I with List II :

LIST I (Language family) LIST II (States / UTs) . -
A. The lndu-_El:lwpﬂﬂn I.  Andhra Pradesh, Tamil Nadu, Karnataka
B. The Dravidian II. Assam, Manipur, Nagaland
C. The Austro-Asiatic I1I. Uttar Pradesh, Maharashtra, Bihar
D. The Tibeto-Burman IV. Jharkhand, Odisha, Meghalaya
(A) A-L B-l, C-1V, D-lI -, AB) AL, B-1V, C-1, D-lII
(C) A-l, B-II, C-lII, D-IV (D) A-1V, B-lll, C-lI, D-I
Match the crop with the State that is its leading producer.
Crops Leading producer
A. Jowar 1. Madhya Pradesh
B. Bajra 2. Maharashtra "
C. Rice 3. Rajasthan
D. Gram P 4. 'West Bengal
Choose the correct answer from the options given below:
(A) A-4, B2, C-1, D-3 " (B) A-2, B3, C4, D-1
(C) A-3, B4, C-2, D-1 (D) A-1, B-2, C-3, D-4

The correct order of Indian states in terms of population size (2011 Census) is (from highest to lowest
population)

(A) Uttar Pradesh, Bihar, Maharashtra, West Bengal

(B) Uttar Pradesh, West Bengal, Maharashtra, Bihar

(C) Uttar Pradesh, Maharashtra, West Bengal, Bihar

(D) Uttar Pradesh, Maharashtra, Bihar, West Bengal

Match the National Park with the State in which it is located.

National Park State

A. Balphakram 1. Telangana

B. Mahavir HarinaVanasthali 2. Assam .

C. Namdapha 3. Meghalaya

D. Nameri 4. Arunachal Pradesh
Choose the correct answer from the options given below:
(A) A-4, B2, C-1, D3 ., (B) A-3, B-1, C4, D-2
(C) A-3, B4, C-2, D-1 (D) A-1, B-2, C-3, D4
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Given below are two statements: e
Statement - I +  Chandrayaan-2 was launched on July 22,2019, from Sriharikota by a Geosynchronous

Satellite Launch Vehicle Mark I11. The spacecraft consisted of an orbiter, a lander,

and a rover.

Statement - IT . The orbiter will circle the Moon in a polar orbit at a height of 100 km (62 miles),

In the light of the ahove statements, choose the most appropriate answer from the options given below

(A) Both Statement - I and Statement - I are correct ,
(B) Both Statement - I and Statement - II are incorrect

(C) Statement - I'is correct but Statement - JI is incorrect .
(D) Statement - I is incorrect but Statement - II Is correct

Which of the following is not a preservative? | )
(A) Dulcin (B) Potassium metabisulphite

(C) Sodium benzoate (D) Sorbic acid salts

Given below are two statements: one is labeled as Assertion (A) and the other is labeled as Reason (R)

Assertion (A) . Biogas contains large amounts of methane which can be used as a fuel for several
purposes. As it releases no smoke or residue, it should be considered as a good and
safe source of energy. e

Reason (R) : Biogas also contains carbon dioxide and the higher content of carbon dioxide
contributes to lower energy of biogas in comparison to natural gas.

In the light of the above statements, choose the most appropriate answer from the options given below:

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(B) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(C) (A) is correct but (R) is not correct e

(D) (A) is not correct but (R) is correct

Before the inception of the five-year plan in India, which of these plans were in existence?
1. Bharat Plan 2. Sarvodaya Plan
3. Farmer Plan 4, Bombay Plan

Select the correct answer using the code given below -
(A) 1,2and 3 only (B) 1 and 4 only (C) 2 and 4 only (D) 1, 2 and 4 only

Which of the following is (are) true in respect of the electric.current used at your home? .
i. Microwave Oven and television uses dc current iy -
ii. Refrigerator and washing machine uses ac current ~ *
iii. Air cooler and air conditioner uses ac current )
iv. Most of the devices use 220 ampere current
v. Magnitude of current passing through different devices is same
(A) Only i, iiand iv (B) Only ii and iii (C) Onlydiiandiv (D) Only 1 iii, iv and v
Consider the following statements :

Statement - I The magnetic field lines emerge from the north pole and merge at the south pole of

a bar magnet. ‘
The direction of magnetic field is taken to be the direction in which the north pole

of a compass needle moves.

There is no field inside a bar magnet.
The relative strength of the magnetic field is shown by the degree of closeness of

the field lines.

LT ]

Statement - I1

Statement - IT1
Statement - IV

@ @®

Which of the above statement(s) is/are correct? (Y .
(A) Statements -1, 11, IIl and 1V (B) Stat{eants -1, II, and 1lI
(C) Statements -1, II and IV ' (D) Statg%ents -1, IIT and IV

Consider the following statements : )
Statement - 1 :+  An electric motor converts electrical energy into mechanical energy.

Statement - 11 An electric generator converts mechanical energy into electrical energy.
Statcment - ITI Both electric motor and generator workion the same principle.

Which of the above statement(s) is/are correct?

(A) Statements - I and III (B) Statements - I and lll :
(C) Statements -1 and II (D) Statements -1, II and III

8 @&
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A4 'ﬁTFﬁﬁ.COPZGﬁW%ﬁWngﬁaﬂﬂiﬁﬁmﬁqﬁgaqw(ncctﬂr)ﬁﬁfqef
1. 2030 @& 1000 GW dx-sirangw Son HUReet o 96 |
2. 2030 a% U Sl wEwE & 50 Wi TG St q | & w1
3. Gﬁr‘@f’ZOBOHﬁigﬁrufﬁ'ﬁ(prﬂjected)wmﬁﬁﬁwﬁ
4. 2oosésmmmﬂawa%mdﬂﬁmmﬁzmoazﬁ45gﬁfmaﬁmI

5. 2090 qF A2 SRy ISl @ WET U HEA |
P & & @ & wuw @ ¥ 7 )
e ¥aw 2, 3 ol 4 (c)/a,-aras,a;a?ﬂs (D) Faw 1, 4 T >

(A Faw 1,233 BRN .
55 maﬁ$400ﬁ‘srﬁrma§1ﬁuiaq@ﬁnﬁimu‘mmmm?ﬁ=rm&aﬁ(mmmudiues) €:-
1. gelifafer amm 2. gfeme S
3. o wd Wed 4. «mEw ) e

(A) ¥aw 1,234 (B -%a@ 1,3 et 4 (C) ¥mm 1,233 (D

56 g g anPeaRiT 2RI @ T W & e i w9 A drg AEgaE F e Hra
Eﬁﬂﬁ&fﬁ%mugﬁm%Iﬁﬁq%ﬁaﬁﬁﬁﬁmﬁﬁ%ﬂ%ﬁmfﬁﬂﬂ%ﬁi-
1. 4B 6 A=l &1 WA / SRIHH & |
2. RS @ el BN S SRl T ik far e ¥
anifeafi g % 4, whegel & o o @t e fean awn ¥
A) waw 1 ofit 2 (B) &aw 2 (C) &g 3

57 fTrasui ¥ @ o § T ¥ 7 | o
1. Podt s s & S e A i € % it SR w9 ot e @ el @ AT A
_Wiig GDPyp @lal & | .- _
2. af Bl 29T A GDP @@ <@ ¥, aRvmREey dem ¥ Suh S ghe onayas T ¢ |
3. wiftma GDP # fa@ GDP @1 aiura GDP aawdifee (Deflator) weemar & |
4. Traw GDP & sifte GDP @1 siuid GDP sa@bifus (Deflator) wgemal & |
(A Haa 1, 2 &t 3 (B)La;qaz,_aaﬂw (C)y %aw 1,3 &t 4 (D) Haa 1, 2 3T 4

58 fymfafiag 2022 % < o frsr 5 9 &9 W Tgg § 7

. 38 ey S gd, aeila § saifea ean am oan |
W 1 30T 9 15 3w 2022 9% amdifra foear wTam ar |
I Taiael 3 g 16 ves Sid o |

. gita e | Sl o e dAsd St o |

(A) FHaa 1 (B) haw 2 . (C) Faw 3 '(6 Faw 3 ofT 4

59 T Ud e anftd SRl % die UE WRd 4w WRd dienie A W A | 7

ﬁaﬁ:ﬁﬂlﬂ?ﬁzﬁ

(D) Faw 2 T3

o

1. T SAETe 2. HETUS : HISIN

3. TEr : HAREH 4. 4@¥nre T gAY @ IR T T A 3K T T
(A) dae | (B) ¥aw 2 (C) %aw 3 @) Haw 4

60 T 1% frg g T el @ R gl 1A o st § S -
T 1 T I

A. FEETS UET STTETCO (i) Bga

B. ®garT #d (i) wfemm

C. @& &¢ A aiEy (iii) &HTw

D. \RIFEHE 3 (iv) TEX W

E. fasmng a=sia Ay (v) wE™
WA)  A-(iv), B-(i), C~(v), D-(iii), E-(ii) (B)  A(iii), B-(i), C-(iv), D-(v), E-(ii)

(€)

OR22-1_C]

A-(iii), B-(1), C-(v), D-(iv), E~(ii)

(D)  A-(1), B(v), C-(iii), D-(iv), E-(ii)
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54 India presented the following Iluqtnr elements of India’s climate change at COP 26, in Glasgow:
1. Reach 1000 G'?V Non-fossil energy capacity by 2030.
g- ftodpertf:em ?f Its energy requirements from rencwable energy by 2030.
- Reduction of total projected carbon emmissions by one billion tonnes from now to 2030,

4. Reduction of the carbon intensity of the
2 economy by 45 per cent by 2030, over 2005 levels,
5. Achieving the target of net zero emissions by 2ﬁgﬂ.y : d

Which of the following are correct statements 2
(A) L, 2and3only B) 2,3and4only (C) 3 4and5 only (D) 1,4 and 5 only

55 Top three commodities by percentage contribution in India’s export growth of $400bn are:-

1. Engineering goods 2. Petroleum products
3. Gems and Jewellery 4, Rice

(A) 1,2and4only (B) 1,3and4only (C) 1,2and3 only (D) 2,3 and 4 only

56  The National Apprenticeship Training Scheme is a programme equipping technically qualified youth with

practical knowledge and skills required in their field of work. Which of the following statements are correct
about the Scheme?

[. Itis a6 months programme. 1

2. The Apprentices are imparted_ training by the organizations at their place of work.
3. During the period of Apprenticeship, the Apprentices are not paid any stipend.
(A) 1 and 2 only (B) 2 only (C) 3 only (D) 2and 3 only

57  Which of the following statements are true ?

I. GDPyp is the market value of all final Goods and Services produced within the geographical
boundary of a country in a vear.

2. If the GDP of a country is rising, the welfare may not rise as a consequence.

3. The ratio of nominal GDP to Real GDP is called GDP Deflator.

4. The ratio of real GDP to nominal GDP is called GDP Deflator.

(A) 1,2and3only (B) 2,3and4only (C) 1,3and4only (D) 1,2 and 4 only

58  Which of the following is incorrect regarding t:he Deaflympics, 20227

1. It was held in Caxias Do Sul, Brazil. 2. It was held from 1%t April to 15% April, 2022.
3. Indian athletes won a total of 16 medals. 4. Sumit Dahiya won a gold medal in wrestling.
(A) 1 only (B) 2 only (C) 3 only ' (D) 3 and 4 only

59  Which of the Ek Bharat Shrestha Bharat Engagement Matrix between States and UTs is incorrect?
1. Gujarat : Chhattisgarh
2. Maharashtra : Odisha
3. Goa : Karnataka
4. Chandigarh and Puducherry : Dadra and Nagar Haveli and Daman and Diu

(A) 1 only (B) 2 only (C) 3 only (D) 4 only
60 Match the Ramsar Sites in List I with their locations in List II :-
List I | List I

A. Nawabganj Bird Sanctuary (i) Tripura

B. Rudrasagar Lake (i) Haryana

C. Tso Kar Lake Complex + (1) Kerala

D. Sasthamkotta Lake (iv) Uttar Pradesh

E. Bhindawas Wildlife Sanctuary (v) Ladakh h
(A)  A-(iv), B=(i), C~(v), D-(iii), E-(ii) (B)  A-(iii), B-(1), C-(iv), D-(v), E-(i1)
(C) A-(iii), B-(i), C~(v), D-(iv), E-(i1) (D) A-~(i), B-(v), C-(iii), D-(iv), E~(ii)
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A1 T U T far it _ , FEed
oLs | S e e s e s o i ¥, sk i, B
% wsﬁwmﬂaﬁazﬁf%'

Fem -1 : Qo Wrew ¥ @Y WAy @) i a6 H Ghd SRegrares ad wl _

T~ 101 ¢ T A @ qEl W ) ST A G G argreTgs 3 @ B > R

Fua - IV : ‘sqaisanmdy fufsefla frmM (medical diagnostics) ® ydpr & o awl TP TP 5
LTSS & SYanET Rear @ ¥ |

Sudad S9 % Pt § @ -8 gaeE w8 8 7 [ i IV

;Q(A) FA-1ac 1 (B) @ua-1 & Il (6 s~ sc v (D) Fua-lI

62~ U AR X B aegell B W @i 7 @ © o
FuT-1: e U | Wfsd )
- 11 : GTI'{@I‘HEF?\‘W&FHHEHHT(curvﬂture)m&ﬂ’ﬁmﬁaiﬁﬁﬁwq(elungatinn)@ma
g & THaT & |

Fert- IIL : SRIT 9T % Sfade (concave) W @1 FdwT BTh Q9 F GUTT S Wl |

Fyq - IV : ﬂaﬁ%w(cnnvex)ﬂ?mmmmﬁgmwm%l

YT FUAT FT A A W BE-9T AT el ¢ 7 ,
(A) wEH-Ta I (B) @e-11 a3l IV (C)ﬁam-lei’mv ) e - 11 e

7 &9 Ua

63 Prer el 3 Roe GRr sl g Tl & oM 3 e Tl 35 o (ratification) B S T
A
A. i orggdl ¥ @i W gl B. aoda 54, ST@T 55 ol ergese 73
C. &= VII D. W IX & #=x |
HE WIS BN 9IT DT ¢
(A) AdRB B) Bl C (C) CarD (D) D3t A
64 ﬁmﬁ‘ﬁaﬁw—maﬁﬁwﬁmﬁ%@m@mﬁﬁ@mawﬁﬁﬁww
¥ el B e@ad HH 9 Udar & 7
HIBE 368

(A) T 358 (B) g% 363 C) &g 366 (D)
65 'm%maﬁmn'ﬁﬁlllﬁﬁmwﬁ%w#ﬁmﬁ%ﬁmﬂﬂwﬁfanﬁlaﬁ-ﬂiﬂm?
(A) WXL dex I (B) U XILA=T IV (C)Y wié XIV, #=x I (D) gqre XI, a=t 1

66 wdteT <EId % O T #igwer wwiHe (2007) N TR ¥
(A) w@EE g A (B) Hfqum &0 amamyg @ &

(C) orgfud &5 4 (D) Toed ¥ & @i T
67 W'A'ﬁ@a&ﬂﬁaﬁ%ﬁmﬁﬁmzﬁ‘fﬁq'wﬂfﬁqwmm(ﬁﬁsﬁ}%smuaﬁrﬁﬂqam‘ﬁﬁﬁmﬁq
g+ :

HieH - A © H@™-B
i, Tieel gist A. SEAIH
ii. WY EraAmHE AP B. wEEEE &1 i
i, TgEEH C. wrdm et
iv. WEEE™ D. fafye feafaw
BS
(A) i-A, ii-B, 1ii-C, iv-D (B)y i-B, ii-D, iii-A, iv-C
HC)  i-B, ii-D, iii-C, iv-A | (D)X i-D, ii-C, iii-A, iv-B
68~ Ik & Wy ¥ ¥ Rewd Rrfem v wiae ¥ 7

frme o oFnmEn, AIDS, e fagm (B) AIDS, ¥izrfea B, F=x
(C) Eriefan, ¥R B, dax emerd (P Rew da srifion, deifslion, s frm
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Consider the following statements :

Statement - 1 + When an ultrasound travels from one medium to the other medium, its wavelength,
frequency and speed change.

Statement - I1 The ﬁ*equenc}: of an ultrasound wave remains almost unchanged while travelling
from one medium to the other medium

Statement - ITI - '

The frequency and speed of an ultrasound wave change when travelling from one
medium to the other medium.

Statement - v ‘Echocardiography’- a technique used in medical diagnostics, employs ultrasound.
Which of the following combination of above statements are true?

(A) Statements -1 and 1I (B) Statements - T and III
(C) Statements -1l and IV (D) Statements - I1I and IV
A person is not able to see distant objects clearly.

Statement - I : The person is suffering from Hypermetropia.

Statement - 11 : The defect may have been caused due to excessive curvature of the eye lens or
elongation of the eye ball

Statement - III ¢ The defect can be corrected by using a concave lens of suitable power.
Statement - IV : The defect can be corrected by using a convex lens of suitable power.
Which of the following combinations of above statements is correct? ‘

(A) Statements -1 and I (B) Statements - II and TV

(C) Statements -1 and IV (D) Statement - II and III

Which of the following provisions require(s) ratification from not less than one-half of the states for an

amendment to the Constitution? |
A. Any of the lists in the Seventh Schedule B. Article 54, Article 55 and Article 73

C. Chapter VII D. Chapter I of part [X
Choose the right code :
(A) A and B (B) BandC © (C) Cand D (D) Dand A

Which of the following Article bars the courts from interfering in disputes arising out of certain treaties
and agreements made by the Princely States before the commencement of the Constitution?
(A) Article 358 (B) Article 363 (C) Article 366 (D) Article 368

In which Part and Chapter of the Constitution was the Right to Property inserted after being removed from
Part 1117

(A) Part XI, Chapter III (B) Part XII, Chapter IV
(C) Part XIV, Chapter I (D) Part XI, Chapter |
I R Coelho judgment (2007) of the Supreme Court deals with :
(A) Autonomous institutions (B) Basic Structure of the Constitution
(C) Scheduled Areas (D) None of the above
Match the cell organelle listed in Column - 'A" with their function in Column - 'B’ and select the correct
option.
Column - A Column - B

i. Golgi body A. Digestion

ii. Smooth endoplasmic reticulum B. Formation of lysosome

iii. Ribosome C. Protein Synthesis

iv. Lysosome D. Lipid Synthesis
Code :
(A) i-A, ii-B, ii-C, 1v-D (B) i-B, ii-D, iii-A, iv-C
(C) i-B, ii-D, 1ii-C, iv-A (D) i-D, ii-C, iii-A, iv-B

Which of the following group of diseases comprises genetic diseases?
(A) Sickle cell anemia, AIDS, Down syndrome

(B) AIDS, Hepatitis B, Cancer

(C) Hemophilia, Hepatitis B, Colour blindness

(D) Sickle cell anemia, Hemophilia, Down syndrome
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gar-1 &t e gfa-11 % g A

-1 - 11
A. TG . €E®
B. diesiiay 2. 9 WM
C. awired 3, AT Yy
ﬁgﬁ?‘lﬂﬁ 4. afte AT
M BIS B IYGNT BHLH Gol I :
(A) A-3, B-4, C-1, D-2 i B) A-3, B-1, C-2, D-4
(C) A-1, B-3, C-2, D-4 (D) A-2, B-1, C-4, D-3
Rd F U W e ol @ Preeeiad Ree ot e S
i dEr - ufyew Sme i, dagd — T e
iil. U — Yo iv. SEER — "ETIZ

Suge W ® @ ar wer e @7 :
(&) o ¢ (B), ¥Ewii i «O) ¥aw iolciv (D) A iii ATV
A | HmuE Ry R

F - I & org-] e 3 wRTE B, U Wit |19 3 WIET @ |

Y - 1 : Tos-1 9 % 9A e 3 Wirs Rredsat HRT @TamEr |
mﬁwwﬁf%ﬁmﬁ,%ﬁqnﬁﬁmﬁﬁmﬁwmwaﬁﬂﬁq

(A) wuv-1ud Hu - 11 S & | (B) wUT- [ ud wod - 11 dFf o ¢
FYT -1 HF & Uy HUA - 1 o ¥ (D) Fa - 1 o ¥ g HAA - 1§ %)
wﬁﬁﬂq%ﬁwﬁmﬂﬁmﬂ'{mﬁﬁwzﬁﬁﬁ
A. WSER — FER — &HM — THEH B+ GATR - i - JHEH - BN
C. ¥ - HHEN - AT - BIGEATT D. gAER - BoRR - 3 - THET
T fu 1o fyemedl & @ T8 ST & TG BN
(A) Faw A (B) %a@ B (C) e C ) ¥aw D
gar-1 &1 frew gfa-1l & g Sk
T -1 -1
A. 3q qTE I &9RE E&iead
B. 33 frai I BUEst AR
C. ¥q fiw Il qliwe-g-ge=aan
D. dig 9K IV. 9rma =t
¥4 fRu 1o fywe § @ |9 IO B 999 B ¢ -
(A) A-I, B-TI, C-III, D-IV B) A-T, B-l, C-IV, D-II

(C) A-IV, B-ﬂ C-I, D-1l (D) A-IlL, B-lII, C-I, D-IV

74 a. OTRY — T ¥ WYY B S BiH Al Hal &l
b. 39 & ¥ WgE Y&F TN baw TarEr, ¥ ¢d den )
Sudad HY [ YA A e BA T E7?
‘;.) Fae a (B) ®daa b (C) a 3T b T (D) acitb¥® § &5 &l
75 g1 & fee gfa-11 & 9 siteg
T -1 T - 10
A. framrR L Hy&Al
B. ®Ea II. grerfET
c ferr—aiar I1I. i
qTger V. frear
?ﬂﬁﬁqwﬁmﬁﬂﬁﬁmmwaﬁﬁq
(A) A-ll, B-I, C-1V, D-III (B) A-III, B-I, C-II, D-1V
(C) A-1V, B, C-II, D-III (D7 Al B-IL, C-I, D-IV
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69 Match List-1 and List -1l

List-1 List - II

A. Arikamedu I. Patrons

B. Tolkappiyam 2. Measure of land

C. Vallals 3. 'Roman Factory'

D. Ma and Vel 4. Tamil grammar
Select the correct answer using the code given below
(A) A-3, B-4, C-1, D-2 (B) A-3, B-1, C-2, D-4
(C) A-l1, B-3, C-2, D4 (D) A-2, B-1, C-4, D-3

70  Consider the following varieties of Mangoes found in India:
i. Chausa - West Bengal ll Totapuri - Madhya Pradesh
iti. Kesar - Gujarat tv. Alphonso - Maharashtra

Which of the above is correctly matched? ’
(A) iandiionly  (B) iiandiiionly (C) iandivonly (D) iiiand iv only

71  Given below are two statements:
Statement - I : Rajendra-I Chola introduced Maligai-Kol, a standardized measuring unit.
Statement - I : Rajendra-I Chola's son Arumolivarman built the famous Brihadeshwara Temple
In the light of the above statements, choose the most appropriate answer from the options given below
(A) Both Statement - I and Statement - II are correct '
(B) Both Statement - I and Statement - II are incorrect
(C) Statement - I is correct but Statement - II is incorrect
(D) Statement -1 is incorrect but Statement - IT is correct

72  Choose the correct hierarchy from the highest to the lowest level in Mughal India
A. Faujdar - Subadar - Amin - Mugaddam B. Subadar — Amin — Mugaddam - Faujdar
C. Amin — Muqaddam — Subadar - Faujdar D. Subadar — Faujdar — Amin - Mugaddam
Choose the correct answer from the options given below:

(A) A Only (B) B Only (C) C Only (D) D Only
73  Match List - I with List - 11 _
List -1 List - 11 !

A. Tipu Shah [. Benaras Rebellion
B. Dudu Mian [1. Faraizi Movement
C. Chait Singh III. Tarigah-i-Muhammadiya
D. Titu Mir IV. Pagal Panthi

Choose the correct answer from the options given below:

(A) A-l, B-1, C-lII, D-IV (B) A-II, B-1, C-IV, D-II

(C) A-1V, B-1I, C-1, D-ITI (D) A-II, B-III, C-I, D-IV

74 a. Manjusha Art is an art form of Angadesh, present day Bhagalpur.
b. The main colours used in this art form are Pink, Green and Yellow only
Which of the above statement/ statements are correct

(A) Onlya (B) Onlyb (C) Bothaandb (D) Neither a nor b
75  Match List - I with List - 1l
List -1 List - TI
A. Kilakot I. Madhubani
B. Kohbar II1. Patachitra
C. Thia-badia III. Sanjhi
D. MoraKuti IV. Picchvai
Choose the correct answer from the options given below:
(A) A-II, B-I, C-1V, D-llI (B) A-I, B-I, C-II, D-IV
(C©) A-1V, B-l, C-1l, D-lll (D) A-IL B-II, C-I, D-IV
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76 ﬂmﬁﬁwﬂmﬂsmmﬂ%ﬁmﬁmﬁaﬂhﬁfmﬁmﬁaﬁﬁmﬁ
A. gy g B. =g o). gl
C. TE™E s D. Wrgewre om, gqmr
E. ¢ faftmy qe@st
e fRu 1q e ¥ ¥ @€t &1 9aT B

Y{(A) FAFTA,BsikD (57)" %@ A, B, C 3T E
& %A A, B,C,D ¢ (D) wugwr g\
77 a. Wwﬁafﬁ'ﬁmﬁmqﬁﬁmﬂm&l & AdR B T A

b. WeRT Tvehw fiw @ dar § ﬁﬁﬂﬁﬁﬁwmqﬁaﬁﬁmﬁqﬂ
SR A R @/ faam wdr &/ & 7
(A) ¥aw a (B) ¥aw b \C) a st b 3

CT}» gidor WIdg vl an<ivd @ B SsU d9q Prefaiag ¥ @ @ 97
A. BIEH IHTEATT B. TaERdr
C. sEETIFAR D. 3rFEAt HerReEr
E. #surarar )
I Ry g faewl & /@ s @ gga ditag
(A) %aw A, B, D ’-(B]) $q@ D, C,E (C) ¥ A, C, E (D)

79  19dY gty ® Wieq ¥ BWE & Wl & aed ¥ P G HUT T 68 7
A. 1861 & oMt ffa@ o &1 9d ¥ HUE IART 9T I 98T
B. “a& & UMV Fidl A HIME SAET § I8 |
C. 1862 @& RBra o 90% Hurg &1 ga qid § §al
D. %9 SARE ¥ far & agard @ one Wal & aifus gqar Al
E. 1875 &1 qa® M o+t {gal & faew amard & ufaiear i
0 fiu o faeedl & ¥ 9 SOt @1 99 Hifag

¢K) ¥ada A, B, C (B) , ‘%@ A, C @it D (C) ¥ad A, B, D (D) %ad D, E

80 @-mmmzﬁ@—un%aﬁamaﬁﬁv X
-1 - 11
A. mﬁrw@fzf&mﬁa /1 gepard - 11
B. Ugla R L 0. it
C. zamemErE fywr e M. == - 10
D. qU& B We Reea V. @<
e f7u T et ¥ ¥ 9E I B 99 i |
A-Ill, B-1, C-IV, D-lI (B) A-IV, B-I, C-III, D-II

(C) AL B-IV, C-L, D-Il

B1 §R-I 4/ 56 & Y gh - 1 @t & ftae it
-1 | w1
A. SEEET YOIl cvy L oAeieg Rawsh
B. €ar-u-—aw et 1L e s "W
LB ferr o8 IIl. sm&sTer
D. T () IV. fa=t @
Ara ffg o faeedt F ¥ wE) SO @ 99w S
(A) A-I, B-lV, C-II, D-I % ~ (B) AL B, C-IV, DI
AC) AL B, C-I, DIV (P) AL B, C-1I, DIV
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Leaders who served more than once as the President of Indian National Congress
A. Surendranath Banerjee B. W.C Banerjee

C. Dadabhai Naoroji D. Rahimtullah M. Sayani
E. Sir William Wedderburn =8

Choose the correct answer from the options given below: >,
(A) A, B and D ﬂ'“ly (E) A: B, C and é *ﬂﬂly
(C) A, B,C,D only (D) All of the above

; L)
a. Maharaja Ranjit Singh came from Karorasinghia Mai Misl.

b. Jean-Fr::mcais f.llard and Jean Baptiste Ventura were the two Nepoleonic generals in service of
Maharaja Ranjit Singh.

Which of the above statement/ statements are correct ?
(A) Only a . (B) Onlyb (C) Bothaandb (D) Neither a nor b

Which among the following were women Adayar saints of South Indian Bhakti Movement?
A. Karaikal Ammaiyar B. Godadevi

C. Isaignaaniyar D. Akka Mahadevi
E. Mangayarkkarasiyar
Choose the correct answer from the options given below: N
(A) A,B,Donly @B) D, CEonly (C) A C Eonly: (D) B,C,Donly
L {)
Which statement(s) is/are correct about the Cotton Plantation in India’ in the 191" century?
A. American Civil War of 1861 impacted Cotton production in India
B. Cotton production boomed in Deccan countryside
C. By 1862, 90% of cotton import to Britain came from India
D. Expansion in cotton production made ryots richer than the sahukars
E. The Deccan Riot of 1875 was the reaction of sahukars against the rich ryots
Choose the correct answer from the options given below:
(A) A, B, C Only B) A, C&DOnly (C) A,B,D Only (D) D, E Only

(7}
|

r'-ul'-'-!
| g
i =

Match List I: Inscription with List [i: Kings ]

List-1 List - II e
A. Sanchi Copper Plate Inscription I. Pulkeshin - 11 o0
B. Aihole Inscription ‘ II. Mihir Bhoja O
C. Allahabad Pillar Inscription [[I. Chandragupta - II L{}
D. Barah Copper Plate Inscription [V. Samudragupta
Choose the correct answer from the options given below:
(A) A-l, B-I, C-IV, D-II (B) A-IV, B-], C-III, D-II
(C) A-IL, B-1V, C-I, D-II (D) A-L B-lI, C-I, DIV
Match List - I: Land / Taxation Units with List - II: Personalities
List - 1 List - IT _
A. Dahsala System [. Alauddin Khilji ~ry
B. Bigha-i-Daftari - II. Raja Todar Mal o
C. Biswa I1I. Shahjahan )
D. Guz/Gaz IV. Sikandar Lodi o8
Choose the correct answer from the options given below: (i
(A) A-llI, B-1V, C-II, D-I (B) A-Il, B-ITI, C-IV, D-1
(C) A-II, B-I, C-I, D-IV . (D) Al BI, C-II, DAV
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|y A oA A ¥ @ and wuT we g
1. % 35t oA T R e R @ D ot Py et Rt T SR B AT S b

(A) ¥ 1,203 B) w2, 3ad () w294 (D) 1,23 04

B3 @aa-1% Ry o §ia F am B Few- 1 ¥ Ru g T8 % wm few Hf)

Fierd - 1 Hiaq - [1
. @ €06t HETTS)
2. WX B. =&
3. dgs C. &l
4, TdETR D. e
(A) 1-D, 2-B, 3-C, 4-A (B) 1-C, 2-D, 3-A, 4-B
(C) 1-B, 2-D, 3-A, 4-C D) 1-D, 2-C, 3-A, 4-B

84 ‘murTis iy fiad dioer ¥ el ¥ Pre ¥ ¥ @ i sy o BE?

I 2 &% 't a4 Fag & st (@rectw) wiRe ¥g wriw fFan man anl
2. ghitaa e & siola adwmas & &t semm
3. W W@ I A A G HTATY
4. gad (FRATW) A G WA B @] SN
A R T B H I w6 GE g6l &1 99T S
(A) Faa 1,23 (Bf Faw 1,284 (C) #Hw2, 334 (D) 1,234
85 wiew-1¥ Ry wq U9 & a9 & @terw - 11 H & TR Ty $ @y fmm St
Fie - I Fle™ - I
1. aEq A. qEdl F EY
2. WHEG B. @ w&l S el qeisdl @ s
3. SHUETS C. n“@ﬁaﬁqa,ﬁ
4. A D.  ZavyfH
WA) 1-B, 2-A, 3-D, 4-C (B) 1-C, 2-D, 3-A, 4-B
(C) 1-B, 2-D, 3-A, 4-C (D) 1-D, 2-C, 3-B, 4-A

86 T @yl & wfiu &t i 10 el § € 98 SOt &1 999 Fiu ¢
FYT - I : AigHselid 99+ & YA WS S agHsag g 9fiEeer der o ¢ o
o - 11 : AYHST BT AT IREGTOT HETarTig T B TR s §, Siih geit @ Searg B AW S gl
(A) Fu-1am &, &ud -11 amas &
(B) @uw-1 owd ¥, H9T -1 6 2 ‘
(C) < &¥9 T ¥ Ud B4 - | & wuq - 1l et s &
P) W Bu §F ¥ wd FuA - [ B Hu - 1 Aremtua @ s @

87 HIET 2 ¥ dawd & €od ¥ P A ¥ 9 /8 wuw g ¥R
. 9dW @2 ¥ TEdd uRg ol siieivaE werdd g ool 2

2. TeWid & WE-W" 9T §H 9 GE9sad 94, 39a0 qiel @ Fuia star ¥ - s gerddh-merindg
AETT F T A ¥ |

3. @ﬁmﬁ.w%uﬁmwﬁﬁ%ﬁﬁgmm%mﬁwmﬁmgm%1
4. qf¥ed g gifea @ eeae afmal o erERer s ¥ o
T A T @is @1 IUEhT Wi 9 IO B 999

(A) Haad 1,23 (B) &aw 2,3 3l 4 E .ml,Seﬁut (D) &aw 1, 2 T 4

ORZZ—I_C ] Pﬂgﬂ‘ - 26 [ P.T.O.

Scanned with CamScanner



82

83

84

85

86

87

ENGLISH VERSION

Which of the following statement/statements is/are correct about Bharatmala Pariyojna?
1. It envisages replacement of level crossing on national highways by road over briges/road under
bridges.
2. It aims to develop the road connectivity to border areas.
3, It aims at development of coastal roads including road connectivity for non major ports.
4. It aims at the improvement in the efficiency of national corridors.
gelect the correct answer using the code below:
(A) 1,2and3only (B) 2,3and4only (C) 1,2and4only (D) 1,2,3and4

Match the name of the Dams in Column - I with the river in Column - II.

Column - I Column - II
1. Sardar Sarovar A. Mahanadi
2. Mettur B. Chambal
3. Hirakud C. Kaveri
4. Gandhi Sagar D. Narmada
(A) 1-D, 2-B, 3-C, 4-A (B) 1-C, 2-D, 3-A, 4-B
(C) 1-B, 2-D, 3-A, 4-C (D) 1-D, 2-C, 3-A, 4-B

Which of the following statement/statements is/are correct about Pradhan Mantri Krishi Sinchayee Yojana?
1. It was launched to achieve convergence of investment in irrigation at the field level.
2. Expand cultivable area under assured irrigation
3. Improve farm water use cfficiency
4. Introduce sustainable water conservation practices
Select the correct answer using the code below:
(A) onlyl,2and3 (B) onlyl,2and4 (C) only2,3and4 (D) 1,2, 3and4

‘Match the name of the state given in Column - I with the phrase given in Column - IL

Column - I Column - 11
1. Assam A. Abode of Clouds
2. . Meghalaya B. Land of Red River and Blue Hills
3. Uttarakhand C. God's Own Country
4. Kerala D. Land of the Gods :
(A) 1-B, 2-A, 3-D, 4-C B) 1-C, 2-D, 3-A, 4-B
(C) 1-B, 2-D, 3-A, 4-C | (D) 1-D, 2-C, 3-B, 4-A
Read the given statements and select the correct answer from the options giveﬂ:
Statement - | : The pattern of movement of planetary winds is called general circulation of the

atmosphere.
Statement - IT : The general circulation of the atmosphere sets in motion the ocean water circulation

which influences the earth's climate.
(A) Statement - I is True, Statement - IT is False

(B) Statement - I is False, Statement - II is True
(C) Both Statements are True and Statement - IT provides explanation to Statement -1

(D) Both Statements are True and Statement - II does not provide eziplanatinn to Statement - I

Which of the following statement/statements is/are correct about the movement of the Indian plate?

[. The Indian plate includes Peninsular India and the Australian continental portions.
2. The subduction zone along the Himalayas forms the southern plate boundary in the form of continent-

continent convergence
3. In the east, it extends through Rakinyoma Mountains of Myanmar towards the island arc along the

Java Trench.
4. The Western margin follows Kirthar Mountain of Pakistan.

Select the correct answer using the code below: -
(A) Onlyl,2and3 (B) Only2, 3 and4 (C) Onlyl,3 and_ 4 (D) Onlyl, 2 and 4
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gg  Match List I with List 11 :-
List 1

A. Dhyan Chand Award for Lifetime -

Achievement (1)

B. Dronacharya Award

List IT

Given to the overall top performing

university in the inter-university tournaments

(ii) Recognizes contribution made to sports
development by entities other than sportspersons
and coaches.

(iii) Honours eminent coaches who have successfully
trained sportspersons and teams and enabled
them to achieve outstanding results in
international competitions

(iv) Honours those sportspersons who have
contributed to sports by their performance and
continue to contribute to prumution_nf sports

i . even after retirement from active sporting career.

(B) A4, B-Gi, C(1), D(ii) (B) A(iii), Biv), C~(ii), D-(i)
(C) A-(ll)i B‘('): C'(IH)! D-(l"f) (D) A'(I), B-(ii), C-(i‘lif"), D-(iil)
8§90  Which of following statements are true?

L, !'tlarlytf-ana was the first state in the country to achieve hundred percent rural electrification in 1970
itself.

2. Haryana is the sole holder of the country’s rock salt resources.

3. “Mera lf'ani Meri Virasat” scheme of Haryana aims to shift farmer’s focus from growing water
consuming .crop like paddy to other less water requiring crops. |

4. Under “Mahara Gaon-Jagmag Gaon”, more than 5000 villages in Haryana have been provided with
24 hour power supply. '

(A) 1,2and3only (B) 2,3and4only (C) 1,3and4only (D) 1,2 and 4 only

90  Reserve Bank of India raised the repo rate by 40 basis points in May 2022. Now consider the following
statements:

1. Repo rates are increased to control inflation. -
7 W{th Increase in repo rates, cost of borrowing money increases.
3. With reduction in repo rates, Industry gets loans at higher rates from the lender.

4. To decrease money supply in the economy, the RBI hikes up repo rates to encourage banks for
borrowing funds.

Select the correct statements using the code given below :
(A) 1 and 2 only (B) KZ and 3 only (C) {\3 and 4 only (D) 1 and 4 only

91 Consider the following from Haryana's Budget 2022-23.
1. Revenue deficit has been brought within the limits prescribed by 15" Finance Commission under
the FRBM Act
Fiscal deficit has been projected at 2.98 per cent of GSDP in BE of 2022-23.
Debt to GSDP ratio is below 25 per cent for Fiscal Year 2021-22 RE. _
47 existing budgetary demands for grants have been consolidated into 29 budgetary demands for
grants.
Which of the above statements are correct ?
(A) 1 and 2 only (B) 2 and 3 only (C) 3andd4only (D) I and4 only

92  Ayushman Bharat Pradhan Mantri Jan Aarogya Yojna(AB-PMJAY) provides accessible and affordable
" health care to the common man in the country. Which of the following are correct about the scheme ?
1. AB-PMIJAY provides a cover upto Rs. three lakhs per family per year, for secondary and tertiary
care hospitalization across the public and private empaneled hospitals in the country.
2. It provides cashless and paper less access to services for the beneficiary at the point of service.
3. Pre existing conditions are covered from day one.
4. Benefits of the scheme are not portable across the country. .

(A) land2only () 2and3only (C) 3anddonly (D) 1and4 only

C. Maulana Abul Kalam Azad Trophy

D. Rashtriya Khel Protsahan Puraskar

ool i
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93 T & B & kil T wers ARl % ag wh ww § ganm b

A. U : GUANET, HTEHHI, HIEHNT B T : M), B, TED
C. ag : %4, Aqan, T D. ey : aPeh, W, e
A g g fmedl ¥ ¥ w8 It @ g B
v(A) %@ A, B, C (B) %aw A, B, D
€) %@ B,C,D | (D) %@ A, C, D
24 _ﬁﬁ“ﬁﬁﬁﬁﬂr{ﬁmmﬁ%mﬁ@m&;mﬁmﬂuﬁmﬁﬂﬂﬁww%?
(A) wErE), i, R, Fem «B) e, Fem, wETY, T
(C) =1, werd, TierEd), Fom (D) Tirererdy, e, om, WO
@ WIS BiST AidieH (1942) & weY &, P & @ & @ 918 ot e wét &7
a. ST HEA - T (G g@m b. %-&.W-WWWW
c. Tag umd - mewry iy 4. wrfe g - i ®eE 9T
(A) asitb (B) balRe (C) caitd (D) a #rcd
A6 sesEl & Feivr Beaeemal & ded # fow =i @ e iR
a. T " I TR
b. BT & A6 i, dreed
C. FHAUTH FH YD TIGRT iii. #agx Reeras
d. W9 §99 & 99T qUw ooy iv. SITa

(A)  a-iv, b-i, c-iii, d-ii (BY  a-i, b-iv, c-iii, d-ii (§Y a-iv, b-i, c-ii, d-ii (E? a-i, b-iv, c-ii, d-iil
97 A & wf sl H gE T & wd F e i
a. WIS wH Al i. Tt
b. TEFdw fash (_\\_'ii. el
c. ®X JeA NG WA iii. WA
d. wiERs R — v, geuad Reefien @ wms |
(A) a-iv, b-iii, c-i, d-ii (B)  a-i; b-iii, c-ii, d-iv (C)\/ a-ii, b-iii, c-i, d-iv (D) a-ii, b-iii, c-iv, d-i

98 ‘- urifiye TEwT @ [ W Rrd 4 S5 @ wra ud Ao siftrare B e frear ¥ R F ada BoSon
©  FEET F T o6 saghE ¥, sevihe get, sfttar & wg el F T, ot us, e, g, o
qfifer, @ =E, e, SRy A ud R, Tt &) st § e die § TwEkl @ eiiedt @ T, s
QU & FEE B SO ST o | SIS Ut & U UH @A a5 § e(Had B U W [hal I d Y
T o) G, St 6 E g wiieE & gl & 9g Aehd ¥, T96 w59 U B GriiTe §99l dw § e s
& GO B 98 giud star &7 -
T8 YT YIS A B | W WA H a0+ ¢ ¢
O @, samn  (B)  dwEm, mRw (C)  smemirege, g W) i, e

99 o waHT & Wit & P § @ @9 & s wit ¥ 7 |
a. 9% W@y UGy § e 91l
b. =& yasiaa fada @ &1 @ an |
c. =, HYT TF A Ramt sEd @R & uieE das &)
d. =¥ 3 @d A e @ — wiaw, S ot s
(A) absRc =~ (B) a bafRd ©Y b, ¢ 3T d (D) a caRd

100 e dfe Pl & Sagsie w9 (3T IdE § o9 &) § sSangd Sifeg
a. @] &0 Agds & el Wike @ gAtwmin b, el o fyga 6iw

c. UEgHW A HREU ® wE d. 9el¥sEt #feT — demgy
x) a, b, C, d @ c, d: b# a (C) C, b: d: d (D) a, b, d, C
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93  Which of the following river(s) is/are correctly matched with its/their tributaries?
A. Krishna: Tungabhadra, Ghataprabha, Malprabha
B. Ganga: Gomti, Kosi, Gandak
C. Yamuna: Ken, Betwa, Chambal
D. Cauvery: Kabini, Bhima, Hemavati
Choose the correct answer from the options given below:
(A) A,B,C Dnl}' (B) A, B, D 'Dl'lly (©) B, C, D only (D) AC D ﬂﬂl}"
94  The correct nrd:r:r of the given rivers when arranged by length from longest to shortest is:
(A) Mahanadi, Narmada, Godavari, Krishna (B) Godavari, Krishna, Mahanadi, Tapi
(C) Narmada, Mahanadi, Godavari, Krishna (D) Godavari, Narmada, Krishna, Mahanadi
95  Inthe context of the Quit India Movement (1942), which pair/s mentioned below is/are matched properly?
a. Usha Mehta - Clandestine Radio broadcast
b. K T Bhashyam - Running independent local government
¢. Chitu Pandey - Labour unrest
d. Matangini Hazra - Attack on police station
Options:
(A) aandb (B) bandc (C) candd (D) aandd
96  Match the following details about Shah Jahan’s construction activities:
a. Moti Masjid I.  Lahore
b. Jahangir’s Mausoleum il. Taj Mahal
c. Extensive use of calligraphy tii. Peacock Throne
d. first commissioned after becoming emperor iv. Agra
(A)  a-iv, b-i, c-iii, d-ii (B) a-i, b-iv, c-iii, d-ii (C) a-iv, b-i, c-ii, d-iii (D) a-i, b-iv, c-ii, d-iii
97  Match the information given below with respective Sufi Saints:
a. Bahauddin Zakariya i. Gulbarga
b. Muinuddin Chishti i1. Delhi
c. Bande Nawz Gesu Garaz 1. Ajmer
d. Nasiruddin Chirag iv. Founder, Suhrawardiyya Order
(A)  a-iv, b-iii, c-i, d-ii (B) a-i, b-iii, c-ii,d-iv (C) a-ii, b-iii, ¢-i, d-iv (D) a-ii, b-iii, c-iv, d-i
98  "--- gives evidence of a planned settlement and mud-brick structure in early Harappan period I. The range
of pottery types was similar to that of Kalibangan. Artefacts included uninscribed seals, pottery with
graffiti, terracotta wheels, cars, rattles, and bull figurines, chert blades, weights, a bone point, and a muller.
A lot of animal bones were found during the excavations, indicating the importance of animal husbandry.
A stacked set of hopscotches was found in an open area behind the structural complex. This suggests the
possibility that a game similar to pithu, which is popular among children in India and Pakistan, goes back
to early Harappan times!" - this statement is a description of which Harappan site in India?
(A) Banawali, Haryana (B) Dholavira, Gujarat
(C) Alamgirpur, UP (D) Rakhigarhi, Haryana
99  Which of the following statements about King Harshavardhana are correct?
a. He belonged to the Maukhari dynasty
b. He was defeated by Pulakesin II- | _
c. Ban, Mayura and Matanga Divakara were the famous writers at his court
d. “Harsha himself wrote three plays - Ratnavali, Priyadarshika and Nagamanjari
(A) a,bandc (B) a,bandd (C) b,candd (D) a,candd
100 Arrange the following temple constructions in chronological order (from most ancient to the recent times):
a. Rebuilding of Madurai Meenakshi temple by the Nayaks '
b. Vitthala Temple at Hampi
¢. Group of temples at Pattadakal
d. Brihadishvara Temple, Tanjavur
(A) a,b,c,d (B) ¢,d, b, a (C) c b, da (D) a,b,d,c
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